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Vs = £,3077, 1,34 0,96,

N — 2N°

2. N2+3H, — 2NH,
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N, + 3H; = 2NH,;

N;+ Hz & NaH 2(r)
AHHMMH

N; + 0; &2 2NO

N; + O = 2NO

2N2m) + 30y = N103¢

N; + 3F; = 2NF;

N: + 2C (rpadur) & C:N;
N; (anaxn.) + 6Li = 2L{)N
N; + 6Na = 2NasN

N; + 3Mg = MgsN»

N3 + 2Al (nopouok) = 2AIN
N; + 3LiH = Li3N + NH,

Nz + CaC; = Ca(CN);

N3 + CaC; = CaCN: + C (rpadur)

(Bak., anexTpHuy. paspsan).
(KOMH., 3NeKTPHY. pa3psAL; NOYTH He HOET):
(500° C, p, xar. Fe, Pt).

(1000° C).

(KOMH., 3NEKTPHY. PA3PAA, MOYTH HE HICT),
(2000° C, xat. PYMnOy).
(anexTpHy. paspan).
(3nexTpHY. PaIpPAN).
(3NeKTpHY. PAIpAL).
(KOMH.),

(100° C, anexTpHu. paspan).
(na so3ayxe, 780—800° C).
(800—1200° C).

(500—600° C).

(300—350° C),
[1000—1150° C).

N; + SHCI (koHu.) + 4[Cr(H20)(Cl3] = N2HsCl + 4{Cr(H;0),Ch]C],
2N; + HiSO, (koHu.) + 4H20 + 4VSQ, = (N;H¢):S04 + 4VO)SO, (xHn.).
N: + 8HC! (xonu.) + 6[Ti(H0))Cl3 = 2NHCI + 6{Ti(H20),Cly] + 24H;0.
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